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- Byleta|27] (@22 27H) 800,0008

- LTV 2,000,000€

- Wz 2HE 600,0002

- J|EH HIZ 3,925,0002

EIE A (IS8 ZEEE) B2 68,499,008

AEES 86,0400 52,171,000 >873,000 667 smeimgAuHs A EE 1 240f) 30,534,000

- wEar2EEA (10H) 30,540,000

- A AL TOIE| Ol 7| (1TH) 7,425,008

(71§AI L'_I-O o AOI) 71§A| C} 7|.A = ;<|7| (1 EH) 1,600,000'0.5
(&) HE2Y 1,710,000

(40|22 HIZ 29 1,037,008

MZ& |4k MdH| A AH| A 128,249,000 332,376,000 204,127,000

N2 MAFZMH| A 128,249,000 332,376,000 204,127,000
HZSZIAAH| 3,000,000
- HZZICH(Q|eFZEalo| 2 A B E) 300,000 * 35]=900,000
|
- HAZICHEYEE) 300,000 * 58|=1,500,000€
- HZATH QIR 7|7| M A Y +2]) 50,000¥! * 25]=100,000
'?.1'
- RRIAE RIGAS[HATHAIH S EH|S) 200,000

B T E-AZM - BANS (AZnALYES) 300,000

MNZE Atgdd ApeiH ~ ,200, ,200, .00/ _

ig A | 22| IR H| 9,200,000 9,200,000 0 0.00 ZEFO|AIH| H AF 200,0002!* 122=2,400,000¥
7| S8 AMH| 3,800,000
-2 IZIE7I7|*E§EL'—’.“—EIHI 150,000* 63| =900,000&!
- RE7|FEEAUL4LE|H| 300,000% 58] =1,500,000¥
- 342 FEI*EEHI 100,000* 63| =600,000¥
- 2E o2 30,0009 * 6+ 435]=720,000
- 4Z7m Q1 40,0009 * 25|=80,000¥

£22: 0|43 AL7|¢: DELQIZSHEZIZ ZYUA|: 20234 112 28Y 10A] 3282 23%
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7| = -LEHAL
S|StSAIY
H

67,750,000

66,698,000

4 1,052,000

- 1.55

AW E 2 MAALR (71470 2 2H,465) 30,848,0008
My o2 IMAALE 15,000,000

- Q717704 2,465 13,400,000

- H|HZ2t S 1,600,0008

ZAr2t2] 400,000

2 E4H 3] 2,500,000

- 2H35|(15]) 1,500,000

- A2 (12]) 1,000,000
= AAR 3t ]2 HH| 2,500,000

- MRlugZ2IMRILRES 1,500,000

- MY IUMRIYLRES 1,000,000
A+20l&x 22 FH| 3,000,000

(HAUMYUT) Atgl s o2 U ZAM| (M7] 271 2 2t,465)
5,820,000¢

(HAMYUSOIET) Atelu g = T3 (H|CHH)Z AL
1,100,000
(HAUMUT) ML Z2 O AZTA| (71221 2 2H,465)
2,580,000¢
(HAHY=01Ez) =2 HE2| 1,500,000

- 2H35|(15]) 1,000,000

- MAI2](15]) 500,000
(HUMYUT) = HALS|St S ALY 2 FH| 950,0002
(HelMYUz) AH20| 8 X2 O -2 FH| 500,000

T

ol

4ol A

20233 118 282 10A| 3282 23%
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7|2 - 1ol
s|30i7 &Y

RLELSAAZIES|H| 654,000
- 44| 3,000%* 20 * 43| = 240,000
- CHEZA} 3,0008 * 128 * 43|= 144,000
- 2OFE U /MsLH=E/SE S) 3,000+ 15 * 62
=270,000¥
RELSMHESEF H| 500 000
- AmQIZHA AR S 40,0002 * 58|=200,000&
- Y9E8E S 100,000._4* 3%|=300,000
RELESAAA T Z S (E A= /CH2,23]) 400,000
AL O S LI5S A EAFRIH] 280,0008

3,354,000 3,354,000 0.00 - S4A}RIO{H| 100,0002* 23|=200,000
EASaAY ’ - 252 2H| 80,0002 * 15|=80,0009
| 191l =21 3 QH| 790,008
- %%%ZP*MHl 200,000 * 35]=600,000%
- H498ZFARH] 100,000€* 13]=100,0002
- C}apH| 30,0009 * 35]|=90,0008
Lo Iﬁﬂ%agzm 730,000
- EHZ2Z3|2HH| 500,000 * 13]=500,000
- 9”ﬂ1|°I1I3HH| 50,0002 * 23|=100,000¥
- 7|EF2EH| 130,000 * 13]=130,000¥
SN SZA| (A 7|87 L 2H46%F) 24,300,000
el 2 23112 | 250,008
Elifﬂ%/kr?; 25,900,000 25,900,000 0.00 410171912 & ol 5 51 8 201H| 1 350,0008)
H
ZEA: 0|45 AL7|A: EELOZTEZ|Z ZUA|: 20233 112 282 10A| 322 23=
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7| = - Ak 2
2| At H|

35,516,000

30,316,000 ~ 5,200,000

(HIHYUZ) M7= kA AL2H2] 7,280,000
- SHZEtZ[HTPG 20,0002 * 5F * 88|=800,000&

- 2222 @F 5) 4,000,002

- AAIZ3] 2,480,000

(HOIHQUZ) M7HE AT UBAF 50,0008 50% 18]
=2,500,000%

(HIHQUZ) 72| 2 HAH ARIH| 2,500,0002

- ZHILL A} 50,0002 * 50H * 18]
(BT /0I Z0I2h) FOMAZA LA H| (P2, S} =2
S) 1,736,000

(HOIHYZ0|ET) HAASA LAY (P 3T EY 5)
2,700,000%

(HIHUZ0| YD) HAAZIY A 20,0008 170
*43|=13,600,000&

0

e

12023 118 28Y 10A] 323 23%




AT = 74H| 6,286,4008

- LQIRRAMHAIPG (ALH) 1,079,500

- QA7 SEHPG (&Lt7]) 246,000

- AFQUR|7|SLSPG AT A|7[) 1,517,500€
- AFEOH =& EPG 2,253,600

- SAYRTPG 1,189,800
A|GAL2| A A AHRH| 162,0002

- JAAZ A Q1 10,000 * 22]=20,000

- dMALEZ 15,0009« 22| =30,000

- SEARAZIEH2]48,0002 * 12]=48,000
FE7| 27 2] 24,0008 * 12]=24,0002

& AU SAFAH ZHEF 2] 40,0008 * 18]=40,0002

7| 2-MEA -
o] 12,260,000 12,260,000 0 0.00 & EHAH-2FH| 4,461,600
= AFEHALQ | 3,531,000
- RFIDZIE 1,450%!* 1,00071 = 1,450,000
- RFIDZtEZ|0]|A 700¥* 7007H=490,000&
- RFIDZIEZZ0|ZE 9508 * 60071 =570,0002
- RFIDZIEQIZ{ 22 100,000% * 77=700,000&
- RFIDZIE & &= 2714 321,000
3| YHE HZ A2l 809,030
HEANLRIZSEGIHSEUIN UM, 4HHYLABE S
) 121,570%
(‘HOIMUZ) ACtALEHEH| 30,0009 * 13+ 45%=1,350,000
2l
Al SAHY 7| 1| 400,000€
- Z+AHH|(28]) 200,000
- ZEAYM/E+0 K (228]) 200,000
LS AALE| Z 3| A] 12,0002 * 10H * 43]=480,0002
A2 AFAFZHERR] (FGI) 3,0009 * 20% « 25| =120,000¥
7| =-2AES A SARHSAH| (/22 2£) 4,0009* 3,0785Y
AFS ALl 13,150,000 14,202,000 1,052,000 8.00 —12312,0008]
At SAHFE A2 FH| 890,000
- HH2% = 100,000 * 25|=200,000¥
- AFH-2H| 200,000€
- AHZALAISM ST A5 S H| 490,000
£t 045 AL7[A: EELQTTEAZ SHUYAl 1 2023F 118 282 10A| 322 23%
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T

7|22
2|2 HBHALY
H

7,559,000

7,847,600

120233 118 28 10A] 32& 23%
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288,600

3.82

dE2YHA =2 14H| 6,347,600

- HI2A|Z7|ZAH] 30,000& * 171 A * 405=1,200,000&
- ITE|ORZARH| 30,0009 * 17 & * 2052=600,000

- WEH| 02 FGH| 20,0009 * 471 A+ 10 =800,000&

- QIZ|E| 02 ZH| 26,000 * 27 2 * 10 =520,000

- 2t H|0tf = H| 400,0002 * 12]=400,000:2

- 74 ZH|Otaf = H| 150,0002 * 12]=150,000:2

- dZerd s 200,0009* 12/=200,000

- AE2|H | 200,000 * 28]=400,0002

- URAZHE3] 165,000« 28|=330,000¥

- ZArZHE 2] 100,0008 * 28| =200,000

- ZARAHEEE] 100,000 * 12]=100,000¥

- MitHSgtgE 250,0009 « 12]=250,000

- HES3P/G 250,000 * 12|=250,000&

- EZ A 688,600 * 12]=688,600

- AFE23H| 259,000
AL 2| g SehSE 1,300,000

- L QIAEQIZ 2] 100,000¥ * 12]=100,000¥

- AHZFEEZEA| 24| 1,200,000 * 12]=1,200,000&
EQISAH oA 2B H| (Fr27] 22| 28]) 200,000




7|29z
Ha S
Arei

63,740,726

66,340,726
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2,600,000

4.08

E £ H| 14,940,000

- 0| A[7A| £4=H| 1,000,000 * 18]=1,000,000&
- 77t & i Al 500,000% * 212]=10,500,000
- A S 220,0003 * 28]=440,000
- Bt FH|ZAH|A 300,000 * 28]=600,000&
- Q12| 100,000% * 32]=300,000#
SETHZF 3,0008 * 7007 =2,100,000¥
THAFIH] 7,560,000

A 2|12t 2,530,000% * 28] =5,060,000&

- AAZ[EE 7603 * 1,2505 % 22]=1,900,000

- @EAZEMEE M 30,0008 * 202 =600,000H
SEETAIY2FH| 604,000

< 222(H]| 1,100,000

- DAEAIRAZLEESMSTY 220,0008 « 12
=220,000¢

- HstEYS 1,400 * 2508 = 350,000

- SYUEE2SH| 50,0002 * 624=300,000

- SHAAE[H|(RESYS/EHESY &) 230,0008 18]
=230,000¥

= 2HAH| 1,400,000

- =842 700@* 50071 =350,000

- Ao S AE[EHEZFH] 100,000 * 28]=200,000&
- S AAL|Ql /8RS S 28| 85,000 * 102]=850,000&
A/ HAA Y| (727 2ZHE 3] S) 470,000
A E7t2] 100,000 * 43| =400,000

2FZHE 3] 150,0008 * 28] =300,000¥

AT 4| 0] 400,000 * 62]=2,400,000¥

ZAFE ALY 12,980,000

- TEE= 2 AL 8,980,000

- A|F 2512 At 4,000,000

A EAHZH| 50,0008 * 1721=850,000&
SEHAE] (O{HO| LI 2 AL) 12,000,000

MITH S2tALHI (ZALH| /24T Q1) 500,000
(HM=0|E=) 4| 500,0002

- 717t & 7§ Al 500,000 * 12|=500,000&
(HUMYUZ) STAZH| 2,000,000

- 7|&t2{ =2 1,000,000

- 7|22 A2 EF 1,000,000
(HUMYUF0|ET) S LETAIY 2 HH] 100,000
(HUMYU=) E=tAtH] 2,730,000

i L= A A A ] M AL H] 1,110,000
A= (5F) m=H|/w25H| 500,000
- XZQHHIO|AMZH] 1,120,000

||'|,|-|)II|

IHFHOLZd0)] TINIO] TN E=l110dUul /77LA = s —J —aHuwul\ "N N\N\N




A= HH| 5,804,600
- muts 900,000 * 23] =400,000

- AZ204A &3 1,200,000 * 45| =4,800,0002
- SMSZE 604,600 * 12|

CF Ob A A H| 6,178,000 6,282,600 104,600 1.69 AP i3 | H| 478,000%
- Z|AZIALEE]| 10,0009 * 408]=400,000%
- 2YEZ 78,0008 13]=78,000%
ZEAH| 3,6009* 170 * 2509 =153,000,0002
SAFAFZHAL 1,00090 % 12 * 2502 =3,000,0009
=2 2120{ 630,0009* 15+ 2¢=1,260,0002
il fE-A HYO| MmOl (Al 2 2 /ZH|H|) 70H,15] 150,000
ZMEZ| QAL 122,207,058 170,607,058 48,400,000 39.60 YL WL (A F) 10,0008* 158 * 13]|=150,000%
2 ZNAFAZZITHA DA L2 H| 3,0002* 60 =180,0009
ADEHS2YH| 1,205,5882* 12€=12,867,058%
(0|22 2,207,058 = 3})
O 7t R| 2 AFH| 26,400,000
- MEAZLZALR 30,0002 * 37§ A * 405 =3,600,0002
- MEQIIZEALE 30,0009 % 77 A * 403=8,400,0009
- Z|Ofof| k| 2 ZEALE 30,0002 * 57H A * 40%=6,000,000
|
EYE=-3 - S0 ZALE 30,0002 * 87 A * 103=2,400,0002
2EHrIER 26,400,000 26,400,000 0 0.00 - S0 YH| 50009474 A* 10 * 1052=2,000,000
D AR 2l

- MSH|OHZALR 30,000 * 17] A x 5228 * 405
=2,400,000¢

- ITE|O0rZALZ 30,000@ * 17 4+ 595£=1,590,000:%
- ZEYN 72 YALE-2FH| 10,000+ 12]=10,0002

T
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© 2023 11€ 282 10A] 322 23%
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H

i
Rl

817,892,000

1O Jm
[> N3 oX
a1 i

o2 mn BN

= s

824,844,000
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LOIUZEEMH|AIOT2EH| 23,170,000

- AA2F7|7| 330,000& * 57CH=18,810,000&

- 21517171 330,000 * 120 =3,960,000

- 10T23H| 400,000

7| &= 594,620,000

- HEALS|=A|AL 2,300,000 * 4E * 122 =110,400,000
- ME 2| AL 1,254,450« 328 * 122 =481,708,800¥

- MUY AAE 70,0009 * 3H* 128=2,520,0002
AlZke|=T 18,998,040

E|2| 22 F 49,901,0008
A2 2= 66,909,800
Al F 2HH| 22,225,160

- AW S o2 O3 et/ & /ZAH]) 9,280,000

- AS|RZZ O3 /A= /ZAM]) 2,900,000

- S23A} 2,000,000

- ZlgAte|22(H| 3,000,000

- UYMEZ| R (HASH) 30,0008 * 28] * 48 =240,0002
Z'YS 1,000,000

Q18 Z3HA| @ 30,000 * 36+ 12]=1,080,0004
HEFS| 4,0008 * 33% * 23]=264,000&

- HjAMQIE 3 2 350008 * 358 =1,225,000&

- AMRH| (O] /M3t s §) 1,236,160

AR 2t gH| 3,800,000
S3tAg2EH| 21,000,000

- 2EHE & 300,0008 * 58=1,500,000

- ZIthH] 20,0002 * 40E =800,0002

- EQFH| 13,000 * 40% * 48] =2,080,000

- WELE 5,000 * 45 * 82|=1,800,000

- AR = ZALE 200,000 * 58]* 52 TH=5,000,000
- ATEE ZAL= 60,0008 * 72| 7|* 521 th=2,100,000
- YHHEs M =zLCkat 15,0008 * 458 * 73]7]=4,725,000
=

- AZEY E=)M =Tt 4,0008 * 458+ 627
=1,080,000

- 2{EEZAIAL 12,000 * 45H =540,000&

- AHd&SH| 15,000 * 458 =675,000A

- A2 E 260,000

- 23ZH| 30,000

- Atgf|&=2H] 410,0002
Tl 2 LI 49H| 19,200,000

HEHALS| = A Al 90,0002 * 48 * 122 =4,320,000
HEZ| Y AL 40,0008 * 31H* 128 =14,880,000&

EOIUEESMH| A B 7|22 FH| 640,000

=2drkil=IH=911 1 H9"1 50l /ard\ 1 "N N"NN\NOI|

> ren
of o2k ok




EYRZR-
AAB|IE S|
AN

467,845,200

467,845,200

24/29

0.00

A|HotsMHE =20/ 2SH| 270,000+ 428+ 114
=124,740,000¢
A|HotSHE{ = 20| 2SH| (718]) 270,000 4F* 118
=11,880,000
A|H 0t MIE = 0| AHY 2L ZH| 7,560,000
- S22 15,0009« 46F=690,0003
- O|=H| (@3=,0tA3 §) 384,000
- 3|o/H| @S 3[2E72],132]) 2,382,000
- WsH|(#31]) 1,136,000
- S| (LAIH 2, 1B HYES) 878,990
- =3H&EH| 25,000¥ « 46F * 12]=1,150,000¥
HEIHA R 2 7 2,235,750/ * 10.5%* 4&=939,010

JE 0

H
A0S HE = 20|AMY 2O FH| (FHH]) T =H| OtA3 §)
720,000¢
SA S E20/8FH| 270,000 * 54+ 113
=160,380,000%
SAE2S=20/23H| (71H]) 270,0002« 4= 11€
=11,880,000&
SAE2S=L0|ArE R ZH] 9,720,0008

- &5 EE 15,000 * 58H=870,000

- D=8 #3&=,0123 &) 672,0008

- 3|o|b| (S22 E7t2],132]) 2,850,000

- WSH| QM /2#E 1 ]) 1,328,0008

- 2S2HH[(EAAH 2, AZUTHEE S) 1,370,990
stetsH| 25,0008 * 58F * 13]=1,450,000
ZH| 5,0008« 248|* 78=140,000&
7| 50,000 * 28|=100,000&
EHOIHAS B E 2,235,750/ * 10.5%* 4&=939,010

r> kI mv Ao

A

SAESE=R0A G RO ZH| (71H]) | =H| 023 F)

720,000¢

EQIZX 27 4H| 2,011,0008 * 60%* 28|=2,413,200&

Mol 52| 2 QI E 300,0008

L L #|o{&-&SH| 270,0008 * 34+ 112 =100,980,000&

L A0 gsH| (FHH]) 270,000 * 2%E * 118 =5,940,000¥

LA O ALY 2L HH| 6,120,000

- &5l & 15,000 * 36 =540,000

- oS8 #3=,0123 5) 504,0008

- 3|ofH| (A& 2R E7tS],138]) 1,620,000
WSH|(&SW]) 576,000
S 2AH| (LA 2, 12T LS S) 940,9908

- =512 H| 25,000 * 36E * 12]=900,000

== =7Lkul T NnNANOI. Ol 1=1. rol _ 1NN NNNOI




Z|OHOfl & S AFEFAFRIH| 2,310,000

o

iiii;rﬂ 9,240,000 9,240,000 0 0.00 2 IFEESAEIAZHI 1,540,002
S| o o 0 S L = ARARH| 5,300,009
PP EETQATMI ST 2 I2H| 2,000,0002
ST HM 0 2,000,000 2,000,000 000 S TTee—"— = &P VVVE
mE= NSl
EYEZR- ARIRE A= FOIH[QFALRIH| 7,920,000
Jpyr 0 7,920,000 7,920,000 0.00
sdnz-s S22 THBARYH] 2,000,000
S| stALY 2,000,000 2,000,000 0 0.00 ° - PSR
H|
(A[H]) 25 Al 3.8002* 100H * 3122 =118,560,000
(A[H]) EEAl 4,0009* 100+ 72 =2,800,0002
EY¥Ez-2 (FH|) FEA 2009+ 100 * 3122 =6,240,000
BIAAERA 132,320,000 132,320,000 0 0.00|(7LH|) EHAl 2,000 * 100 * 72 =1,400,0002
EhHAt | (AlH]) € H]| 2,000,000
(FLH]) €YH| 110,0009* 12€=1,320,000¥
(A|H]) B AIH| 4,3002* 45H * 1043|=20,124,0008
Al (QlHFR} TS H* A0S * 2]=3950,00U0H
fﬁ;)l r(jglz_ 24,510,000 24,510,000 0 0.00 (18]) SHA| 2,000+ 458+ 720-630,0002
=7E (FH]) 28| 130,000 * 122=1,560,000%
(SZ7|_AH|) 2 EA] 38002 * 2%+ 902 =684,0008
(B8&7|_FH|) F54! 2009 % 2H* 90 =36,0000¢
EYdEzx-2 (A|H]) 54! 38002 * 24+ 3652 =33,288,0008
BTAI(ALAFHY 36,768,000 36,768,000 0 0.00 (A|H|) EHAl 40002 * 24H « 72 =672,000L
EHAL | (FH]) FE A 2009* 249H « 3652 =1,752,0008
(FLH]) EHAl 2,0008* 24H * 72 =336,0009
saez2-2 2310141 GH2E.2)A 2ARH| 3,000,000
soleuns (R 3,000,000 3,000,000 0 0.00 e
SHHALH|

12023 118 28Y 10A] 323 23%
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(FHH[) ZArH] (37HEE16-173) 2,940,000
(O ZALH|_<tH[) ZALH| 1,770,000
(O] AL H|_~LH[) AFRIZ2IH] 1,591,220
EFHZR-N (-*H]) S £ H|Y2FH| 60,0008
QI25H w KA 10,452,220 9,852,220 + 600,000 +5.74) (0| ZAtAH|_F1H|) 2FH| 350009
of | (=H]) ZAHH| (3708, 16-173F) 2,400,000
(Ol ZAFIH|_=H[) Z-AH] 900,000
(O AL HH|_ZH[) AFRZ2IH] 156,000
SE=Z-A AIL| 0] 1 52 H| 2| 2IAFRIH] 5,000,0002
L|O] .= & 2H| 0 5,000,000 5,000,000 0.00 T = e
At
Sd=z-2 2| T AYSHS RAFIH| 6,500,0008
HogAsts 6,000,000 6,500,000 500,000 833 °°°E"
At
E _E L= 0|3 S| = (=]
:g if_roﬁtu 4,600,000 4,600,000 0 0.00 C12AILHSOIALH] 2,300,00024* 28]=4,600,000
=2o (=]
SdRz-o SR E7IEAFZ B AR QARG H| 2,100,000
=/ ES{E]] 0 2,100,000 2,100,000 000 =" 7
At

T

loh

=5

Ly

=22

[

Mo

HYA

2023 11 282 10A| 32& 23%
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T

27,354,028

12023 118 28Y 10A] 323 23%

27,354,028
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BHAH] OH2&A}) 4,600,000

BAHAH| (ZAt2| 2 2]) 3,000,000

HHALH| (ADFED AE) 3,000,000

25) SEHAH| (O{H 0L /7H2H=HAL) 4,200,000
HAZ &2 H CM S+ /5824 &++=) 500,000
7|Ef= #ALRH| 3,580,000

(Ol 2=) 7|ELAIZH| 404,028¥

(OIE3) A =AZdstAtEH| 2,710,000

S 02 FH| 50008 * 10E * 47 & x 115=2,200,000

Joh S Jm Jjm Jjm
Y

o

|0FZALE 30,0002 * 17 &% 75=210,000&
SZ AL 300,000+ 12]=300,000

(Olg=) HYLHAY-E35} 800,000

- FYAAZE Y 250,000 * 28|=500,0002

- | YYEHZ 50,0008 * 28]|=100,000H

- Z0p7t= Q171 20,0008 * 102]=200,000&
(OI23) GLHAI LS EH| (EZ=4222]) 1,400,000
| 212t A H| 340,000

(Ol E=) AL THREALRIH| 1,740,000

(0IE¥3) ZAl=2tAtRiH| 880,000

(0|g3) =T 2+Y MU SAHH| 200,000

0.00
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(S2) LSUXH|E| = 2 A H| 3,500,000

(S2) Y2=FAAS27 U= JAEHE] 10,500,000
(OIE3) Y 2=FAAS7IZS A JALYH| 2,5802
(S2) ZO0H QI A7H M ALIH| 5,000,000

(S2) AL THTRALH] 10,960,000

(S2) =|HZstu ArH| 3,400,000

(S2) LS50 24U = AIZ R [ALH| 2,760,0008
ZH 23 650,0008 * 122 =7,800,000

H|Of 3l I 1AL &I H| 2,621,500

- FAASHEMUR A RILEE/S
=2,500,000¥

3iH| &) 500,000 * 53]

28/29

QAL H| 64,321,133 80,116,390 15,795,257 24.56 - AHZA XA Z0{2 AR 65,9002
0 - ZO7H=MAIZER| 55,6009
(sHm|217| 20| &Z) Z0ot7t=24412t2] 88,4009
7|EFA| M S AALRH| 12,550,000
(KT &amp; GSA| M THABIH|O| 2 F) HHH|X| ) 3,534,728
_?il
2023 KT &amp; G=A| A THARMH| 2| 112,997
(GHO|EI7| 20| 2 2) Q7|7 A KA H| (BFF2) 5,713,925
2l
EHHAH| (O] O|' Ll A}F) 750,000
(23) AT ERFALS| M-S = 2 J 2 H| 10,822,260
S A 1,999,517,365  2,085,377,822 85,860,457
N2 1,999,517,365 2,085,377,822 85,860,457
KT &amp; G5 Z| A THAEH| 2| 4 F 2B 587,003
= = (&) A2 240,251€
N& S 241,117 827,860 586,743 243.34 (@a20123) A2 6068
N& 22| & A 241,117 827,860 586,743
MZ 241,117 827,860 586,743
ZE2}: EELEEEAY £2HY 2023 118 28 10A| 328 23%




VHAH LU LS HEZFO0| A 11,0004
A|HotSHE = R0|AMY E 2 F 0| AEHE 20,000
A=A 2 ESAIE 22 F0| A8 17,000
SAESER0ALY 22 F0[AHHHE 35,0008

L QISESZMH| 20| &= (O[Ah)HH 8,657H

A HEMstS2AIE 0| E 5 (OfAh)EHe 1,6173
IR SAHEESIAIY 0| &5 (O] Ah)EHE 193
24N S ZAIZE 0|2 S (O] A4 2,258)
406,518 4,709,518 4303000 105850 =2 <===TRURAL/EEUH Rz q AN
OffH[H] & 7| ofHH] & 7| 30,000%

=t =t MOISH A0 ”Z (012 )it 2,369
24 E S0|A Y E 2 50| A 15,000
BHRYEZF0|AEHE 280,000
(CIsEZEZF) dretm 1,763,000
dE2Y0I7IZ2 1M E 2 F0| A 12,000
Rl 2H ARO[ (O At_=H| )2 1,508
=28 (AR A2 FE2HE 2,510,000

rz
6
ol

M=z

of| | | 100,000 100,000 0 0.00 (&%) cilb|E] 100,0002

ofl ]| % 7|

E} OilH[H] 2 7[E} A 506,518 4,809,518 4,303,000

NE

N& oflHIH| & 7|Ef AA| 506,518 4,809,518 4,303,000

NE A 3,628,698,000 3,930,912,000 302,214,000

22b: O0|A3Z AL7|n: ZELOIZSIEZ|Z Z2QAUA|: 2023 112 282 10A| 328 23%
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